

Homework #3

1. $f(x) = x^4.$

Find $\frac{f(x+h) - f(x)}{h}$, $h \neq 0.$

$$f(x+h) = (x+h)^4,$$

$$= (x+h)^3 (x+h)$$

$$= (x^3 + 3x^2h + 3xh^2 + h^3) (x+h) \quad \left[\text{using } (a+b)^3 = a^3 + 3a^2b + 3ab^2 + b^3 \right]$$

$$= x^4 + 3x^3h + 3x^2h^2 + xh^3 + x^3h + 3x^2h^2 + 3xh^3 + h^4$$

$$= x^4 + 4x^3h + 6x^2h^2 + 4xh^3 + h^4$$

$$\therefore \frac{f(x+h) - f(x)}{h} = \frac{x^4 + 4x^3h + 6x^2h^2 + 4xh^3 + h^4 - x^4}{h}$$

$$= \frac{4x^3h + 6x^2h^2 + 4xh^3 + h^4}{h}$$

$$= 4x^3 + 6x^2h + 4xh^2 + h^3 \quad \underline{\underline{\quad}}$$

24. $\lim_{x \rightarrow 5^-} \frac{6}{x-5}$.

Since, $\frac{6}{x-5} < 0$ for $x < 5$, and use defn of limit

$$\lim_{x \rightarrow 5^-} \frac{6}{x-5} = -\infty$$

18. $\lim_{x \rightarrow 1} \frac{x^3-1}{x^2-1} = \lim_{x \rightarrow 1} \frac{x^3-1^3}{x^2-1} = \lim_{x \rightarrow 1} \frac{\cancel{(x-1)}(x^2+x+1)}{(x+1)\cancel{(x-1)}}$
 $= \boxed{\frac{3}{2}}$

22 $\lim_{h \rightarrow 0} \frac{\sqrt{1+h}-1}{h} \cdot \frac{\sqrt{1+h}+1}{\sqrt{1+h}+1}$

$$= \lim_{h \rightarrow 0} \frac{\sqrt{1+h}-1}{h(\sqrt{1+h}+1)}$$

$$= \lim_{h \rightarrow 0} \frac{\cancel{h}}{\cancel{h}(\sqrt{1+h}+1)}$$

$$= \boxed{\frac{1}{2}}$$

$$\# 28. \quad \lim_{h \rightarrow 0} \frac{(3+h)^{-1} - 3^{-1}}{h}$$

$$= \lim_{h \rightarrow 0} \frac{\frac{1}{(3+h)} - \frac{1}{3}}{h}$$

$$= \lim_{h \rightarrow 0} \frac{\cancel{3} - \cancel{3} - h}{h \cdot 3(3+h)}$$

$$= \lim_{h \rightarrow 0} \frac{-\cancel{h}}{\cancel{h} 3(3+h)}$$

$$= -\frac{1}{3 \cdot 3} = \boxed{-\frac{1}{9}}$$
